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Tolerances are specified
09) b= Soemn +) To obtain desired fits
o0 \/because it 1s not possible to manufacture a size
exactly
- to obtain higher accuracy

2 to have proper allowances
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o064 Expressing a dimension as 25.3:o'osmm is the case
EY

% mw of

(a) Unilateral tolerance

% v ag‘%-ko.ogragzgmm\(bﬁﬂateral tolerance —ev0
X LlL= <2~ O‘OS"-'—OQS‘RS'\M»’ (c) Limiting dimensions T N e
(d) All of the above gg'r&g-gm,’ L
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-0.009
— 0009 A shaft has a dimension, &35—0025mm
QMF‘, 75 25 mMm The respective values of fundamental deviation and
0 03¢ tolerance are
(a)—0.025,£0.008 (b)-0.025.0.016
X Fp= 9 (¢)—0.009,+£0.008 L,(ad’ﬁO.OOQ,O.OlG

X TTolevance = 7
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—+0-04-0 In an interchangeable assembly, shafts of size
—0-0lo o010 mm mate with holes of size 00 .
+ 0020 mim.
Wole » Qg M ry) The maximum possible clearance in the assembly
—06v will be
(a) 10 microns (b) 20 microns

(c) 30 microns (d) 6o microns
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In order to have interference fit, it is essential that
the lower limit of the shaft should be

(a) Greater than the upper limit of the hole
(b) Lesser than the upper limit of the hole

(c) Greater than the lower imit of the hole
(d) Lesser than the lower limit of the hole
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Interference fit joints are provided for:
(a) Assembling bush bearing in housing
(b) Mounting heavy duty gears on shafts
(c) Mounting pulley on shafts

(d) Assembly of flywheels on shafts
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+001< ‘0‘215
- 0 - . - :
HO\Q ;é 9% A hole is of dimension ¢9 mm. | he
+0.010
+060\0 corresponding shaft is of dimension @97 mm.
Shalt +0- 09! The sesulting ssserlily s
3w .
) (a) loose running fit

(b) close running fit

VL= 9 0\ mw \[e¥ transition fit
"2 Mde\) W= 3 (d) interference fit
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In an interchangeable assembly, shafts of size 25

+0.03

mm mate with holes of size 05 +0.02

+0.04
-0.01

The maximum interference (in microns) in the assembly

1S

(a)go0 (b)30 \m (d) 10
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éOH :,Ldg A shaft and hole pair is designated as 50H7d8.
Interference fi
83 wie  Shalt (a) Int . nce fit
’V)\C«ML&—; \'T’-'- ""8 e _TB'CYG nee (b) Transition fit

learance fit

@ Be=Howm (d) None of the above
ToleYance O]CHOIC =T

Tolevance «r S’Mﬁ =|TY
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X cleayance fit — S|
Loose Ruwvirg £it  (a) Push fit

(b) Running fit
¥ Toansilion €i—> Tight 1, fushif (<) Sliding fi

\_Ud Shrink fit
* ‘M—lev{)evem@ -P’,‘-—-) S‘Ln'\qkﬁ-" Heary dive ﬁ-,l'

Adda

e

de il  Lavce (14 Which of the following is an interference fit?
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Comnsider the following joints:
1. Railway carnage wheel and axle
2. IC engine cylinder and liner

Which of the above joints is/are the result(s) of
interference fit?

(a) 10only
(b) 2 only
(c) Neitherinor:z

(d) Bothiand 2
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Allowance in limits and fits refers to
Q\\ oWane = Mi"‘ C (a) Maxamum clearance between shaft and hole
\/ﬂ)( Minimum clearance between shaft and hole

(c) Dafference between maxamum and minimum size of
hole
(d) Difference between maximum and mimimum size of

shaft
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Dimension of the hole i1s 50 +g'02 mm

and shaft i1s 504’0'02 mm.

+0.00
The mimnmimum clearance 1s
(a) 0.02 mm (b) 0.00 mm

(c) -0.02 mm (d) 0.0l mm
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Hole Basis — K Basic shaft and basic hole are those whose upper

£ lp= Fp— o deviations and lower deviations respectively are

(a) +ve, -ve (b) -ve, +ve

gbﬂg Q0gic —> ,9\ , Lero (d) None of the above
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Which one of the following is not correct in hole basis
system of fits?

2! The hole size 1s kept constant.

o) The basic size of the hole is taken as the low limit of
size of the hole.

-1 The actual size of a hole that 1s within the tolerance

limits always less than the basic size.

2| The high limit of the size of the hole and the two limits
of size of the shaft are selected to give desired fit.
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RS HH9Q

For the given assembly: 25 H7/g8, match Group A with

Group B

Group A | Group B

P.H I. Shaft Type

Q.ITS8 — II. Hole Type

R.IT7 \}III Hole Tolerance Grade

S.g IV. Shaft Tolerance Grade

P Q R S P Q R S

(a) 1 I IV 1 (b) 1 IV. oI 1II
(c) 11 Im 1Iv 1 \9)/11 Iv. o1 I
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A nomenclature ¢@so HE/p8 denotes that

9( Hole diameter is so mm.

zX It 1s a shaft base system.—> ’e\%
% gg — éo i) 3.X 8 indicates fundamental deviation.

ich of the statements given above i1s/are incorrect?
* Mole Tolevance = | TR (a) 1,zand 3
b) 1and

X qua»{‘Jr Toleyance = 17§ Ec)) e ; ::g

(d) 3 only

¢ &,0 H% / ‘) R Consider the following statements:
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e In the tolerance specification 25 D 6, the letter D
& 5\ D represents

(2( Grade of tolerance

A= BS = AT mm Upper dewviation

X ToleYance o Hole=1T§ Lowerdemanon

(XJ Type of fit

o= F1
zew line




USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount AN [8 [= (ke

The dimensional limits on a shaft of 25h7 are
(a) 25.000, 25.021 mm
(b) 25.000, 24.970 mm
(c) 25.000, 25.007 mm

(d) 25.000, 24.003 mm
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The fit on a hole-shaft system is specified as Hy-

H726 56.The type of fit is
77 $ ¢ (a) Clearance fit
(b) Running fit (shding fit)
i M—r}(c) Push fit (transition fit)
Force fit (interference fit)

8',‘0{_\‘ Mole
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Measure the diameter of the holes in the
1eces

FI)Y TwnsPection o
? V‘ KLL\Q('\ W the diameter of the holes in the

workpieces

(%Check the length of holes in the workpieces

X Mg Gouge — Tncpectio O]C' Hole
X~ Rirg) Gag, Snep Gagge Thifectt o)C Shaft

qa uae,, Plug gauges are used to
Measure the diameter of the workpieces
y
wor
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Which one of the following tolerances set on inner

diameter and outer diameter respectively of headed
jig bush for press fit is correct?

(a) G7hé (b) F7n6
(c) H7h 6 (d) F76
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